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Bbi0epuTte nuHenHble hyHKLUNN

1)y = 5x 4Yy=4-x

2)y=-7x+4

3) y = 2x?




Y = KX

'padoumk dpyHKUUU —
npsamas,

npoxoasdiwan yepes
Havyano KoopauHart

y=86

'padoumk dpyHKUUU —
npsimas,
napannenbHasa ocu
OX, npoxopsawas
yepe3 TouKy (0;B)



y = 6x y=-7x+1 y=0,5x+3 y =95-4x

y =-9 + 0,3x y=8 y = -2-X

BO3pacTalLime ybniBalowme
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y =KX+,




y=K3X—|—63
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Yy =K,X+8,




pacmkn pyHkuMn y=x,x+6, U y=K,X+86,

napannesbHbl,

ecnm... K, =K,
nepeceKkaroTcs B
OO HOW TOYKE , eClM... K, 7 K,

coBnapaloT, ecriu... Kl — K29 81 — 62
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3apgaute cpopmynoun pyHKLUIO,
rpadpuK KoTopoun napanrneneH
rpadpuky qpyHKUMN Y = -7X + 3 U
npoxoauTt Yyepe3 To4Ky A (0; 8)







